三上数学口算练习（7）
三（    ）班     姓名                                                   
	900－900＝

56－8＝

1400－1000＝

300＋500＝

60÷6＝
20×5＝

86－7＝

80÷8＝

1100－100＝

14－9＝

220×3＝

24－7＝

92＋6＝

600－400＝

6×50＝

48÷4＝

69－7＝

75＋7＝

600＋200＝

3×320＝
	74+40＝

34+56＝

15+65＝

700×8＝

160-90＝

25+37＝

46-24＝

40×6＝

1300－700＝
85+15＝
66+25＝

48÷8＝

9×400＝

57-38＝

750-320＝

2400-500＝

93-29＝

53+19＝

32+48＝

300×4＝
	12÷2＝

700－200＝

800＋400＝

31－16＝

300＋100＝

53－37＝

90＋9＝

18－9＝

12÷3＝

30×5＝

2×200＝

95－49＝

2×410＝

90÷3＝

60×3＝

24×2＝

400－300＝
52－7＝

920－820＝

60÷8＝


	5000－2000＝

8×500＝

71－39＝

17 ＋ 27 ＝

49÷7=
80÷4=

74-47=

20×4=

21÷2=

84÷4＝

8000+2000＝

55÷5＝

72＋15＝

4×220＝

40－15＝

130×3＝

80÷2＝

26＋57＝

7000＋600＝

5800－800=
	900－400＝

90×2＝

820－20＝

740－40＝
86÷2＝

56＋13＝

24÷2＝

200＋700＝

50－5＝

65÷8＝

310－10＝

700－100＝

49－7＝

85＋9＝

82－7＝

600＋100＝

710－10＝

32－7＝

87＋6＝

500×4＝




